Arms - Non-Flip Back Attaching Hardware

HARMHT - High Mount
Attaching Hardware Setting

(HARMHT Option)

Reuse Existing Back
Cane Hardware
and Move Outside

Rear Arm Socket

0
High Mount - Left = D15
H Washers to Inside " (-4
Left/Right Rear Arm Socket in Tront of Gap Nuts &
w
Right Side o
View Shown ;
Remove these existing —
Wash‘:ars, tl'!ey a’;le r:ot E D1 5
required w
o~
o~
-]
g D18
PositionA | #
0
Rear Arm Socket =
High Mount - Left | = | D16
[a]
Right Side “
View Shown o
in
= INA
a
Reuse Existing Back
Cane Hardware S
and Move Qutside 0
Washers to Inside -—
in front of Cap Nuts -4 N/A
Position B 8
. L]
HARMHT - ngh Mount Reuse Existing Back Rear Arm Socket b
Attaching Hardware Setting e M e High Mount - Right g N/A
H Washers to Inside
Right/Left Rear Arm Socket in front of Gap Nuts a
Right Side
View Shown o
wn
Remove these existing E D1 6
Washers, they are not [a)
required wn
o~
o~
(-]
= D19
", a]
PositionA | @
Rear Arm Socket ol
High Mount - Righ o
g ount 18 t = NIA
[a]
Right Side v
View Shown
o
s p17
z D18
g | D19
Reuse Existing Back : D20
Cane Hardware ©
and Move Outside —
Washers to Inside -4 D21
in front of Cap Nuts 3 D22

SCM_201A

Position B




Arms - Non-Flip Back Attaching Hardware

(HARMHT Option)

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
1 AC 1164104 Kit, Arm Attaching Hardware - Right 1 1
2 Socket, Arm, Rear, Black - Right 1 1
3 Socket, Arm, Front, Black - Right 1 1
6 NLA - Screw (1/4-20 x 1-3/4") 1 1
7 Nut, Hex with Nylon Cap (1/4-20) 1 1
8 B,C 1164105 Kit, Arm Attaching Hardware - Left 1 1
4 Socket, Arm, Rear, Black - Left 1 1
5 Socket, Arm, Front, Black - Left 1 1
6 NLA - Screw (1/4-20 x 1-3/4") 1 1
7 Nut, Hex with Nylon Cap (1/4-20) 1 1
See Chart Arm Settings and Hardware (HARMHT Option) 1 1
NOTE: A -Kitincludes items 2, 3, 6, and item 7. Parts are not sold separately.
B - Kit includes items 4, 5, 6, and item 7. Parts are not sold separately.
C - For further information, see "Arm Settings and Hardware (HARMHT Option)" Chart.
Arm Settings and Hardware (HARMHT Option)
See lllustration for Corresponding Information
HARMHT Option Relz_a;f,t’-\(rlrtneiog)ket Seat Depth (In.) Arm Option
1164105 SDR1216 D15
Left SDR1519 D15
Position A SDR1822 D18
1164105 SDR1216 D16
Left SDR1519 N/A
Position B SDR1822 N/A
Iltem 5 Mounted FXDESK - FXFULL
on Right Side ADJDESK - ADJFULL
HARMHT Option R%?;Qrmesr:])c:,gl;et Seat Depth (In.) Arm Option
1164104 SDR1216 N/A
Right SDR1519 D16
Position A SDR1822 D19
1164104 SDR1216 N/A
Right SDR1519 D17, D18, D19
Position B SDR1822 D20, D21, D22
Item 3 Mounted FXDESK - FXFULL
on Right Side ADJDESK - ADJFULL




